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General Instructions :

1.
2.

Candidate must write his/her Roll Number on the first page of the question paper.
Please check the question paper to verify that the total pages and total number
of questions contained in the question paper are the same as those printed on
the top of the first page. Also check to see that the questions are in
sequential order.
For the objective type of questions, you have to choose any one of the four
alternatives given in the question i.e. (A), (B), (C) or (D) and indicate your correct
answer in the answer-book given to you.
All the questions including objective type questions are to be answered within
the allotted time and no separate time limit is fixed for answering objective type
questions.
Making any identification mark in the answer-book or writing roll number
anywhere other than the specified places will lead to disqualification of the
candidate.
Write your question paper code No. 40/0S/1—A on the answer-book.
(a) The question paper is in English/Hindi medium only. However, if you wish,
you can answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu,
Marathi, Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri,
Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in
the box provided in the answer-book.
(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
question will be yours only.
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1.
2.

el UeTS % TRl U3 W AUl ST A Iavd T |

FUA YIS 1S9 of foh ULAUSA & KA Yo A YA HI IAA & HEA

T A Jom g % WO IR TR T | 3W 9 & g ot A R TA

He ' H T

RIS A H 3Rl =R fasedi (A), (B), (C) 1 (D) § ¥ & Weh W

T ® qA R SW-YiEe H g udt S| fafed |

TS T & WY-Tg Gt ye & Sw fuifa safy & offR & 39 ¥

Fegfss gel & fou otem ¥ wuw wE femn S

S-gf&dent § qeam-fa =M stgen fafds o & stfafted &l ot st

forem o gfteneff w1 etErE SEUE SRAT |

ST IW-YReT W IATA &l e §& 40/0S/1—A fag |

(F) TeIUA dhaa fEd/sist § ® 1 R oft, afe o =) @ = < T fe
Tk 9o § S| T T ©
sttt f&dt, 55, demmelt, dven, aftd, Hered, ®ee, ao, AUel, Sfe,
TSI, Shishont, AT, orafien, Jurelt, wyHt, S&hd iR fasft |
FIA SR-YRaeRT § U U afew § fored o o fovg wmen # SW @
W®WE |

(@) afe oy f&st wa ot & stfafted fedt st s & S faea € @
U¥ h! HHSH H BH arcll Afedi/Tataal s SR Shad STaw! gl |
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ECONOMICS
(31efvTTE)

(214)
Time : 3 Hours] [Maximum Marks : 100
qag ;3 HU [qurieh : 100
Note :— (i) All questions are compulsory.
(i1) Marks allotted to each question are indicated against it.
(iit) Each question from Q. Nos. 1 to 8 has four alternatives
(A), (B), (C) and (D) and out of which one is the most
appropriate. Select the correct answer and write it in your
answer-book against the number of question.
de — () |ty efwed g
(i) UIE Y H 3% IHS A G T |
({ii) TS YT HHG 1 T 8 Tk, TAF U¥T H AR Thfcdsd IW
(A), (B), (C) 3R (D) fed M ¥ fovfl & ws T =1 waifuw 3fea
T 98 SR g qn A SW-gRast B SH U HHE & G
foferd |
1. Which of the following is a luxury ? 1

(A) A car for a minister

(B) A car for a busy doctor in Delhi

(C) A car for a college student

(D) A car for a teacher teaching in college
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frafafeq & & s = faenfaa § 2
(A) TH T3l & fau &R

(B) foooll § T =% SfdX & fau &R
(C) Toelt wies & fomnedft & faw &R
(D) o & Thdr e & ot &R

2. Which one of the following is not a reason of low productivity ? 1
(A) Lack of adequate infrastructure facilities
(B) Good labour relations between workers and management
(C) Lack of research and development activities
(D) Adverse cost and price conditions
= # ¥ amw = Scfedr &SR0 T@ T2
(A) T« SEART giagsi s A
(B) #ffl IR Wawsl & o9 o= oM WA
(C) =y iR fowm =@l &1 1@
(D) fowlld @rd SR wima gemd

3. Who imposes tax on goods and services ? 1
(A) Government (B) Producer
(C) Buyer (D) Manager
T 3R Fensll W R HE A § 2
(A) TR (B) SR
(C) el (D) YeuH
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4. Inflation means : 1

(A) an increase in prices of goods and services

(B) an increase in prices of goods and services which is sustained
for a long time

(C) an increase in prices of goods and services for a short period

(D) a decrease in prices of goods and services which is sustained
for a long time

E@'{:‘ﬁﬁl g sfyuE ¥

(A) a& iR Haied & wHal # gy

(B) a¥ R Harsli &t &mdl § IEeeid R gfs

(C) 39t & fau axg iR Fanshi &1 =wiba # 3fg

(D) w%g SR Farsli = wiHal § el R S

5. Which one of the following does not influence economic development

of a country ? 1
(A) Natural resources (B) Capital formation

(C)  Technology (D) Type of economy

freafafed # 9 @@ fod <o & onfdw fowm &1 gwfaa =@ & ?
(A) Uipldes HEd (B) Uit fmiw

(C) drenfirnt (D) SIdTaEn H YHR
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6. Main motive of a private sector production unit is to :
(A) maximize output
(B) maximize social welfare
(C) maximize profit

(D) provide general employment opportunities

it & &1 SR THhEA H G&A A T :
(A)  Afehad 3G

(B) 3fygyehan g fea

(C) Ifyehaq oy

(D) ISR & T &1 goH

7. Which one of the following statements is not correct ?
(A) Saving equals income minus consumption.
(B) Compulsory savings arise because of increased taxation.
(C) Forced savings arise because of inflation.
(D) Savings are done because future is always certain.
freafafad § 9 9 o9 9@ T@ © 2

(A) 9=d 3T 3R IYN HT W T |

B) N # gfg A fad s=a &1 T A T |

(C) HE&HIfd ¥ ASeRA o=d & 9l § |
(D) @=d sHfaT # ¢ fF afasr @ e ghfrea ©
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8. Which one of the following statements is not correct ? 1

(A) Savings of the households and of the firms together constitute
the public savings.

(B) Saving that is not invested in production is called hoarding.

(C) If you have kept one lakh rupees in your cupboard, that is also
called hoarding.

(D) The household sector’s savings are called personal savings.

frafafed # 9 S ®OF W@ TE T ?

(A) TRE R ®H H gud & Hael WESe  S=dl & &
FA T

(B) 3S9EA %@ & fau fow & +t T §ud sHeEd T

(C) 3t oM T W@ T MK H W < @ a8 ot SHEn
B

(D) YNGR &% %I s=q & Jafds o=9d #ed ¢ |

9. Show with an example that present wants are more important than

future wants. 2

AT SATITIRATY Afee w1 savThael ¥ 1fus Aeayel i §, TH IR
ERUCIER I

10. Distinguish between consumer goods and producer goods. 2

UK &GS dd IARE g H Ag HIWT |
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11. Distinguish between large scale industries and small scale industries
on the basis of investment in fixed capital assets. 2
sa Yot fow & oHR W e Yum & SEn dwr @y s@n H 9%
SHfSIT |

12. How does distribution of goods and services affect consumers ? 2

g IR Fensii w1 faawor suddEel w1 HEY yuifed A § 2

13. Suggest any two ways to help the poor. 2
Tl I FEEA B T BlE o aleh gasd |

14. What do you mean by ‘Token price’ ? 2

hd o [a

‘Tihfae FHd’ ¥ YT FT STAUE T ?

15. Name four types of deposit accounts which can be opened in
a bank. 2
W IR 5| @l & W fafew st 9% § @il s ged § |

16. State any two main characteristics of a mixed economy. 2

fafsa sreferaen =1 fF<l o g fovmmet =1 Sw@ Sifay |

17. Distinguish between economic growth and economic development. 2

s Tgfg dun onfde fowm & 9 wifsw |
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18.

19.

20.

21.

22,

23.

What is a patent ? 2

Yo M T ?

“Wants are interdependent.” Explain with the help of an example. 4

“ aTagehdd R AR Bt € 1) Uk SSIelUl ki HeEdl § TUIEd |

What is meant by the term ‘increase in production’ ? Explain with the

help of an example. 4

‘S # gfg’ | afyuE ¥ ? UF /R HT FeEdl W guEmEl |

You come to know about a new product through an advertisement.

Explain briefly two advantages you get from this advertisement. 4

foqmm & g el fedl ¥ SAr w SHe fHadt ® 1 39 S ol
Y9 H gusmsy S 39 fome g ofuent fae €

Why do we buy goods and services ? Explain. 4
B g% SR Farel #I TSR F FA § 2 HHIEY |

What is ‘General Insurance’ ? How does it differ from ‘Life Insurance’ ?
Explain briefly. 4
‘g S e S § 2 ‘Sied s’ 9 9% fohd weR fuy= ¥ 2 d8g |

HHLARY |
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24.

25.

26.

27.

How is central problem ‘what to produce’ solved in a capitalist economy ?

Explain. 4
farel steferaen # ‘1 I fhar S =g 9ue &1 9WEE fRE yER
T ¥ ? WEIRT |

What do you mean by ‘natural growth rate of population’ ? Find out

natural growth rate from the following data : 4
Year Birth rate Death rate
1971-81 37.2 15.0
1981-91 31.0 11.0

o

‘SEE &1 Agfite gfg R eueR @ Aty § 2 frefafea stiwel @

e ¥ gfie gfs X Im Fife

L S g X
1971-81 37.2 15.0
1981-91 31.0 11.0

Why is there a need to control birth rate in India ? Explain
briefly. 4
IR H S0 W R =0 &1 evesd =i g ? HeY H 99y |

What is meant by ‘unemployment’ ? Why is there a widespread

unemployment in India ? 4

‘U’ w1 R A ¥ 2 URd W sat favnel SRS =i ® 2

214/40/0S/1-A 10



28.

29.

30.

31.

32.

“India is a developing country.” State four characteristics which justify

this statement. 4

“ O T TIRERia S § 1! 39 hed 1 fifu g e gt 9 faweand
CRIELUE

What do you mean by ‘Terms of Trade’ ? When are they called

favourable ? 4

‘SR & IR Y SAYET F MU B 7 TK AR Hd hel Sl § 2

“We should consume to live, not live to consume.” Justify this

statement. 4
“gH S % fan Suem e wnfen, T fe suwm & faw S 17 3@ owem
w1 slifaa fag =ifsT |

How are private sector production units classified on the basis of number
of owners ? Explain. 6
WAl &l T & 3MUR W s & &l SR $hEAl &l fhd YR M
foon ST § 7 WESET |

How do the following affect demand for a commodity ? 6
(a) Change in price of related goods.
(b) Change in income of the family.

o o o (a)

fFrefafea frdt agg = O &1 38 guifad &d § 2

(@) Uag sl & i § 9iedd |
() URER =t A= H fedq |
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33. What is meant by °‘Liberalization’ ? State four measures
which have been adopted in this direction under new economic

policy. 6
‘TR T g o § ? T2 onffer fifd & eteiq 3w fawm # sem g

ne

T HeHl T ool hifg |

34. What is air pollution ? Name any two general sources of air pollution.

Write its two harmful effects. 6

I YOO N B T 7 A YU & el & 9 Sl o AW fafew |

S al e gug fafgn |
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